Central Nursoic

City of Worcester Department of Public Works and Parks Parks, Recreation, & Cemetery Division Forestry Tree & Planting Services Pricing Page

This will be a single year contract which will begin on April 7, 2024 and end on April 6, 2025, with one (1) single year extension, at the sole discretion of the City, that will last until June 30, 2026.

Group1 - Trees

Species (Size 2 to 2 ½ inches) & includes purchase, delivery & planting of each

* Native

Estimated Quantity	Description (Tree Species)	Unit Price	Total Amount
40*	American Elm- (Ulmus americana hybrids)	\$_720.00	\$_28,800.00
50*	American hornbeam – (Ostya carolinia)	\$_730.00	\$_36,500.00
40*	Black Gum – (Nyssa sylvatica)	\$_755.00	\$_30,200.00
50	Gledistia Skyline	\$_725.00	\$_36,250.00
50*	Hackberry Celtis – (Occidentails)	\$_730.00	\$_36,500.00
40	Kentucky Coffee tree – (Gymnocladus diocus)	\$ <u>725.00</u>	\$_29,000.00
50	London Plane Tree – (Plantanus x acerfolia) Blood Good	\$_720.00	\$_36,000.00
40*	Red Maple – (Acer rubrum) – Armostrong	\$_725.00	\$_29,000.00
40	Sweetgum liquid – (styraciflua)	\$ _730.00	<u>\$_29,200.00</u>
50*	Tilla – Basswood (Corinthian)	\$ 730.00	\$ 36,500.00
50*	Red oak (Qurercus)	\$ 730.00	\$ 36,500.00
500	Total Group 1:		\$ _364,450.00

Central Nurseries

Group 2 – Tree Planting GPS

Exact Quantities are unknown and will be based on funding

Estimated	Description *Tree S	Species)	Unit	Price	<u>Total Amount –</u>
<u>Quantity</u>					Group 2
500	Price per Tree with (Location Coordinate (per section 16 of For Planting Specification	es prestry Tree	\$ <u>5.0</u>	0	\$ <u>2,500.00</u>
Other Unit P	ricing (As Needed)				
Needed	Price for Saw Cuttin (Unit price to be util is required by the cit planting specification will be used as necessity	ized when Saw Cutting y (as per Tree n 10-C). This price			
	to be included in the	•	\$_30	0.00	\$_300.00
GROUP 1 (7	TREES) -	TOTAL		=	\$_364,450.00
	JOTE A L. A. TRANS			+	2.500.00
GROUP 2 (II	NSTALLATION)	TOTAL		=	\$ 2,500.00
TOTAL ALL	ITEMS		=	\$	366,950.00 **

^{**}AWARD TO BE MADE IN THE AGGREGATE. BIDDERS MUST BID ALL ITEMS IN BOTH GROUPS.

Wagon Wheel Nursery

City of Worcester Department of Public Works and Parks Parks, Recreation, & Cemetery Division Forestry Tree & Planting Services Pricing Page

This will be a single year contract which will begin on April 7, 2024 and end on April 6, 2025, with one (1) single year extension, at the sole discretion of the City, that will last until June 30, 2026.

Group1 - Trees

Species (Size 2 to 2 1/2 inches) & includes purchase, delivery & planting of each

^{*} Native

Estimated Quantity	Description (Tree Species)	Unit Price	Total Amount
40*	American Elm- (Ulmus americana hybrids)	s_799_	\$ 31,960
50*	American hombeam – (Ostya carolinia)	s 799	s 39,950
40*	Black Gum – (Nyssa sylvatica)	s_799	s 31,960
50	Gledistia Skyline	s 7-99	\$ 39,950
50*	Hackberry Celtis – (Occidentails)	\$ 799	s 39,950
40	Kentucky Coffee tree – (Gymnocladus diocus)	\$ 799	s 31,960
50	London Plane Tree – (Plantanus x acerfolia) Blood Good	s_799_	s 39,950
40*	Red Maple – (Acer rubrum) – Armostrong	s <u>799</u>	s 31,960
40	Sweetgum liquid – (styraciflua)	s 799	s 31,960
50*	Tilla – Basswood (Corinthian)	s_799_	s 39,950
50*	Red oak (Qurercus)	s 799	\$ 39.950
500	Total Group 1:	FORM 40P (2 1 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1	s 399,500

Group 2 - Tree Planting GPS

Exact Quantities are unknown and will be based on funding

Estimated Quantity	Description *Tree	Species)	Unit	Price		Total Amor	unt –
500	Price per Tree with a Location Coordinate (per section 16 of For Planting Specification)	es prestry Tree	\$	10		<u>\$5,00</u>	0
Other Unit P	ricing (As Needed)						
Needed	Price for Saw Cuttin (Unit price to be util is required by the cit planting specification	ized when Saw Cuttin y (as per Tree	ıg				
	will be used as neces to be included in the		<u>s</u> <u>d</u>	060)	\$ 2,00	20
GROUP 1 (7	ΓREES) -	TOTAL		=	\$	399,5	00
GROUP 2 (II	NSTALLATION)	TOTAL		+ =	\$	7,000	
TOTAL ALI	ITEMS		=	\$	406	,,500	**

^{**}AWARD TO BE MADE IN THE AGGREGATE. BIDDERS MUST BID ALL ITEMS IN BOTH GROUPS.

City of Worcester Department of Public Works and Parks Parks, Recreation, & Cemetery Division Forestry Tree & Planting Services Pricing Page

Amherst Nurseries

This will be a single year contract which will begin on April 7, 2024 and end on April 6, 2025, with one (1) single year extension, at the sole discretion of the City, that will last until June 30, 2026.

Estimated	Per instruction from Chris Gag included in the Description (Tree Species)	Pricing below.*	Total Amount
<u>Ouantity</u>	Description (Tree Species)	Oint Trice	10tal Amount
40*	American Elm- (Ulmus americana hybrids)	\$ 258.00	\$ 10,320,00
50*	American hornbeam – (Ostya carolinia)	<u>\$ 253.00</u>	\$12,650,00
40*	Black Gum – (Nyssa sylvatica)	\$ <u>303.00</u>	\$12,120,00
50	Gledistia Skyline	\$ 258.00	\$ 12,900.00
50*	Hackberry Celtis – (Occidentails)	\$ 258.00	\$ 12,900.00
40	Kentucky Coffee tree – (Gymnocladus diocus)	\$ 268,00	\$ 10,720,00
50	London Plane Tree – (Plantanus x acerfolia) Blood Good	\$ 258.00	\$ 12,900.00
40*	Red Maple – (Acer rubrum) – Armostrong	\$ 258,00	\$ 10,320,00
40	Sweetgum liquid – (styraciflua)	\$ 258,00	\$ <u>10,320.60</u>
50*	Tilla – Basswood (Corinthian)	\$ 258.00	\$12,900.00
50*	Red oak (Qurercus)	\$ 258.00	\$ 12,900.60
500	Total Group 1:		\$ 130,950.00

Amhorst Nurscried

Group 2 - Tree Planting GPS

Exact Quantities are unknown and will be based on funding

Estimated Quantity	Description *Tree	Species)	Unit F	Price	Total Amount – Group 2
500	Price per Tree with Location Coordinat (per section 16 of F Planting Specificati	es orestry Tree	\$ <u>4/5</u>	9.00	\$ 229,500,00
	ricing (As Needed)				
As Needed	is required by the ci planting specification	lized when Saw Cutting ity (as per Tree on 10-C). This price	5		
	will be used as nece to be included in the	•	s 39	0.60	\$ 195,000.00
GROUP 1 (TREES) -	TOTAL		=	\$ 130,950.00
GROUP 2 (II	NSTALLATION)	TOTAL		+	\$ 229,500.00
TOTAL ALI	LITEMS		=	<u>\$ 36</u>	,0,450,00 **
J					

* Price is for trees furnished by Amherst Nurseries Inc.

**AWARD TO BE MADE IN THE AGGREGATE. BIDDERS MUST BID ALL ITEMS IN BOTH GROUPS.

JAM CORP.

City of Worcester Department of Public Works and Parks Parks, Recreation, & Cemetery Division Forestry Tree & Planting Services Pricing Page

This will be a single year contract which will begin on April 7, 2024 and end on April 6, 2025, with one (1) single year extension, at the sole discretion of the City, that will last until June 30, 2026.

Group1 - Trees

Species (Size 2 to 2 ½ inches) & includes purchase, delivery & planting of each

* Native

Estimated Overtity	Description (Tree Species)	Unit Price	Total Amount
<u>Quantity</u>			
40*	American Elm- (Ulmus americana hybrids)	\$_560	\$ 22,400
50*	American hornbeam – (Ostya carolinia)	\$ <u>420</u>	\$21,000
40*	Black Gum – (Nyssa sylvatica)	\$_ 4 50	\$18,000
50	Gledistia Skyline	\$ <u>560</u>	\$ <u>28,000</u>
50*	Hackberry Celtis – (Occidentails)	\$ <u>420</u>	\$_21,000
40	Kentucky Coffee tree – (Gymnocladus diocus)	<u>\$420</u>	\$ <u>16,800</u>
50	London Plane Tree – (Plantanus x acerfolia) Blood Good	\$_570	\$28,500
40*	Red Maple – (Acer rubrum) – Armostrong	\$_530	\$_21,200
40	Sweetgum liquid – (styraciflua)	\$ <u>420</u>	\$ <u>16,800</u>
50*	Tilla – Basswood (Corinthian)	\$ <u>530</u>	\$ 26,500
50*	Red oak (Qurercus)	\$ 530	\$26,500
500	Total Group 1:		\$ <u>246,700.00</u>

Group 2 - Tree Planting GPS

JAM CORP.

Exact Quantities are unknown and will be based on funding

Estimated	Description *Tree S	pecies)	Unit l	Price	Total Amount -
Quantity					Group 2
500	Price per Tree with (Continued of Formal Planting Specification 16 of Formal Planting Specification	restry Tree	\$ <u>1.00</u>)	\$ 500.00
Other Unit Pr	icing (As Needed)				
Needed	Price for Saw Cutting (Unit price to be utilities required by the city planting specification will be used as necess	zed when Saw Cutting (as per Tree 10-C). This price			
	to be included in the	per tree price)	\$ 500	.00	\$ 500.00
GROUP 1 (T	REES) -	TOTAL		=	\$_246,700.00
				+	
GROUP 2 (IN	ISTALLATION)	TOTAL		=	\$_1,000.00
TOTAL ALL	ITEMS		= 5	\$	\$ 247,700.00 **

^{**}AWARD TO BE MADE IN THE AGGREGATE. BIDDERS MUST BID ALL ITEMS IN BOTH GROUPS.